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2. 5 AAH A} = 336,155 0 0Bt F2le-d#an] @ 186,230,0009 X 1xl = 186,230,000
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9,240 0 9,240
9,240 0 0 E8ad ¢9du) @ 35,0009 <221 x129= 9,240,000
1,582 0 1,582
1,582 0 1,582
1,200 0 1,200
1,200 0 0/ °1A42¢) : 100,000¢] < 12Y= 1,200,000
382 0 382
382 0 0| AE7t= FAE : 102,0009 x 13]= 102,000
2 &Ful 2o E 14,0009 < 205= 280,000
1,673,059 0| 1,673,059
2 el o 2019-04-08




20198 A= A& o AHH A A

2o 2} (eHg) @ A9
o arey | A= HE2(H)
2YE  EANE Ade | T
51,520 0/ 51,520
1.71€F YRS 49,920 0| 49,920
TALTT 49,920 0 49,920
1.0 GATH(FH) 49,920 0 0
1.8uedAdFT 49,920 0 0|LAATE] 65,0009 <647 X 12YU= 49,920,000
9 g F s} 1,600 0 1,600
A 1,000 0 1,000
1.AEds 1,000 0 0
1. YR 1,000 0 0| AH&AE7H] 50,0009 X201 = 1,000,000
2] 9] 1.7 600 0 600
1.523A9 600 0 0
1. w2 5] 600 0 0|523&9 300,0009 x23]= 600,000
A /L&A w4 422,686 0| 422,686
387,759 0| 387,759
2123 387,759 0| 387,759
S (el AL 31,683 0 0
1.9-fd= 31,683 0 0 ji;iéfﬂ% A 43096278 4,986,000
F2 & ¢FlTF 4309 X332 X187 = 26,697,000
FA GG (Shaed) 1,900 0 0
1.8k 81| 1,900 0 0[FAAIEFA R4 100,000 < 8= 800,000
;iiz/j};d:iﬁ%%%%%%‘% 200,000
FAATEG A HAGH A 900,0009 X1 900 000
2= ,
AV FA 71T e (FA) 96,341 0 0
1Al 96,341 0 0 %iiif;;gjw“%) 96,341,000
FAAETAHLF) 107,504 0 0
132 &2 A &5 107,504 0 0[4]3%H]  10,750,4009 X 103]= 107,504,000
AL (Y e) 52,386 0 0
1.dnk 84 24,955 0 0|AZAGHAL 1,500 X 77 x23]= 21,000
1 ale] o 2019-04-08




20198 A= A& o AHH A A

of| A3 B o) AL (9 - H)
A4
Z] 4 H| 2! _
aue | 295 08 REHESC)
AR | | A AR A7HE AN = = ° =
wdn) (F44) 50,0009 < 63]= 300,000
ZA 8 350,000 < 103]= 3,500,000
FA2HE 1,371,800¢ X 103]= 13,718,000
FA7 458 150,000 X 103]= 1,500,000
AA 2 YAE 561,1009 X 103]= 5,611,000
HaSH] 35,0009 X33]= 105,000
TR TIM 50,000€) < 28] = 100,000
AFEE3ETE]] 50,0009 X 23] = 100,000
2. A7 8 F 2,659 0 0|71 8= (F24) 265,900 X10%]= 2,659,000
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2. He=Eae 11,060 0 0
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L&D A 2500 A}) 2,805 0 0
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2.9 A A A=A AU A D (520]) 1,170 0 0
1&g 1,170 0 0| AfFAY SALA] 45,0009 < 267 = 1,170,000
37124 usdE 252,882 0| 252,882
1.3 25 179,674 0| 179,674
1. 2785 9 12,605 0 12,605
1. 22459 2,250 0 0
1.&99% 2,250 0 0| BAFAST 15,0009 X 1503]= 2,250,000
2. 85FEH BT 8,100 0 0
1.3 5N & 8,100 0 0|gHFTHE 9 30,0009 <2709 = 8,100,000
3. uka A WY 1,000 0 0
1.0 H| 1,000 0 Ot A = 79} 500,000 X 23]= 1,000,000
4.7 shd Al &t 600 0 0
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1.2949 300 0 0[3r= & 7k2H] 30,0009 X 103]= 300,000
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2. 98 dE 7,260 0 7,260
1.7 w29 7,260 0 0
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AR A G FETY 500,0009 X 23]= 1,000,000
E5A737748] 60,0008 < 13]= 60,000
A& (AE)AEN 100,000 X 158F= 1,500,000
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2. 0l&$ o n) 2,000 0 0| ASLEEEFTY 2,000,000 < 13]= 2,000,000
3. U FT ] 3,000 0 0| <SSR ETY 3,000,0009] < 13]= 3,000,000
4. E=andE 1,500 0 1,500
1.olsny &4 1,500 0 0
1. 325890 500 0 OellEnHAEFTY  500,0009 X 13]= 500,000
2.0 FF ] 1,000 0 0|l % IHFETY 1,000,000 X 13]= 1,000,000
5.9]5 ol &E 200 0 200
1.9 0429 200 0 0
1559 200 0 o IR EFM B AAEAE T 200,000 200,000
A x138]=
6. 5, ueds 113,770 0| 113,770
1.5 adn(F ) 2,000 0 0
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f}ﬂ@%%% AFE] 20,0009 X 43] X594 400,000
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2. 5583 2,268 0 0
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_%71 7] e 30,0009 < 123] < 18F5 360,000
A471AEg R 35,0009 X 123] X 18H3= 420,000
2. &S n) 430 0 0|/ A ¢ d%s 21 80009 x43] x59= 160,000
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4. FAd EFsFEgu(Fd) 9,000 0 0
o gl 1 2019-04-08




20198 A= A& o AHH A A

o) AL 5 LR (el 29
o arey | A= HE2(H)
49w | AY ARZE QAEANE A | S
1. g¥HEEH| 7,700 0 OAF-EEETY 2,640,000 < 13]= 2,640,000
qu?xiiﬂjﬂﬂ dlEhd]  110,000% 3,960,000
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3. 4Ny 51| 400 0 0| Y73 25,0009 X478 < 43]= 400,000
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1. 4R 1,000 0 0|34 70448 1,000,0009 X 13]= 1,000,000
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1A ded 21,151 0 0
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A BA A BHE R 100,000 X 13]= 100,000
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GG
AZRAE 66,2809 x123]= 796,000
w0471 YRR 57,0009 X 123]= 684,000
AGAHRAE 18,5009 X 123]= 222,000
ALHIAE 30,7809 x 123]= 370,000
14. 32 &7 4,075 0 0
1.8k 84 4,075 0 0| FA AR LS 275,0009 X 133]= 3,575,000
FHEETY 500,0009 X 13]= 500,000
AEF FE 4,810 0 4,810
1.8hal2- o 9 1 3] 1,860 0 1,860
1.3 919329 1,860 0 0
1.99H) 660 0 0|74 ou 10,0009 X 1174 X 63]= 660,000
2. AW T2 1,200 0 0[8h-91%9  200,000¢) X63]= 1,200,000
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20198 A= A& o AHH A A

LR (el - A9
e gae | Ad= o A2 2 ()
A% ARFE EANE Ade | T
2.3 8wy 1,650 0 1,650
1.0t 3] & 600 0 0
1. 05890 600 0 0| BAFE-4dH] 150,000 x43]= 600,000
2.8} 5 13 9o 1,000 0 0
1. 05890 1,000 0 0| 8AHE-4H] 500,000 x23]= 1,000,000
3. RIS FAY 50 0 0
15 o] 50 0 0 Iﬂ%%_lﬂﬁ%ﬁéﬂ%ﬂ%% thzu] - 50,000 50,000
A x13]=
3. FHIAy e 1,300 0 1,300
1AW $ A 1,300 0 0
1.295% 1,000 0 0|3 NF294 1,000,000 < 13]= 1,000,000
2. &S n) 300 0 0|3 ALS-H] 300,000 X 13]= 300,000
A = 37 1,673,059 0| 1,673,059
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